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Question Number : 1 Question Id : 813561801 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

1 -1 x

IHf|1 x 1 |hasnomverse. then the real value of x 1s
¥y —1 1

B =¥ %
ArAs |1 x 1] % D5 AAS S0, oD, X LD
x =k 71
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Question Number : 2 Question Id : 813561802 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Z—I ,
—=aisa

The locus of z satisfying

z2—21

Z2—1

= 2 0 DodyHNOB 2z cANE), DotdDGEA

z—21

Options :
Hyperbola

1 % ©EDTTHVADO

Circle
Sy

Straight line
RO B

Ellipse
Ao to i FobY
Qone

Question Number : 3 Question Id : 813561803 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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. (1"
For how many natural numbers ‘n’ such that 1 < n = 2021 is (1—) =] ¥
o

T4\
1l=n=< 2021, (1_—3 =1 & &= DA ‘0’ cﬁnéa’ QeSO ‘ri'.toaJS?
Options :
=

,le[]dﬁr

, » 505

5 % 506

503

Question Number : 4 Question Id : 813561804 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

Find the value of ‘p” and ‘q’ if the function f(t) = t3 — 6t + pt + q defined on [1, 3]

- ‘ . 243+1
satisties the Rolle’s theorem for ¢ = AT

2V3+1
V3

[1,3]  6Docswds f(1) =5 — 667 + pt + q Hdabiw ¢ = 3¢ 8%

i)rg’a@“bl e ‘P’ b0k ‘g’ @ Deden

Options :

_— B =it g —= Tk
. g =31, gER
3. %
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pER, gER

4% p=11; g= 11

Question Number : 5 Question Id : 813561805 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The domain of /|x] — x is

Vx| — x dwg), Hd32W
Options :

) x (0,0)

« R—10}

Question Number : 6 Question Id : 813561806 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
Let f(x) = cos(ax) + sin(x) be periodic. Then a must be
f(x) = cos(ax) + sin(x) HACDAW €356 DODAND. @ VR Qo

Options:
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Irrational
|« Sogiab

Rational
e9EBE0%0

Positive real number

ATB) S TR Roddy

Negative real number

20ETSB) S T Roady

Question Number : 7 Question Id : 813561807 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Let ABCDEF De a regular hexagon with the vertices 4, B, C, D, E, F counterclock-wise, Then the
vector AB + AF + CD + EF is equal to

_— —

ABCDEF s0¢ye8 4,B,C,D,E,F e 00i0i] 636" Sg:0en ooy, AB+AF +CD + EF =

Options :

. « DE+FA

, « CB+ED
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Question Number : 8 Question Id : 813561808 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If the tangent to the curve x/ + y2/3 = a?/® meets the x-axis at A and y-axis at B. then AB =

B4y = g2 5508 o a8 216,09 1w A 56, y-ox) B 36 00y, AB =

Options :
2a

1. %

2333&

Question Number : 9 Question Id : 813561809 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If the number of rectangles formed on a chess board is 1296. then the total number of squares
formed on the chess board 1s

28 BEG01 0 DERR) BIBETV Vot 1206 B, & 0 DED)

EBOCANY Vo3 Jodh?

Options :
1 % 202
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203
3 v 204

205

Question Number : 10 Question Id : 813561810 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
¢ f 1+ cos(4x)

cot{x) — tan(x)

dx = k cos(4x) + c . then

dx = k cos(4x) + ¢ . @D

J' 1+ cos(4x)

cot(x) — tan(x)

Options :
| e
1. % 8
=
2. % =
=4,
o=
3. ¢
s |
=
4, % =

Question Number : 11 Question Id : 813561811 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the circle circumscribing the triangle formed by the straight lines x + v = 6.
2x+y=4andx + 2y = 51s given by

T4y =624y =4 2080w x + 2y = 5 20v8pud Doy Gzba 18,8 PSR

Options:

- x?+y*+17x + 19y + 50 =0
2 2 _ - , -

. + 3 17x — 19y + 50 =0

3 x2+v2+17x— 19y —50 =0

n x2+y* —17x+ 19y —-50=0

Question Number : 12 Question Id : 813561812 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
J x(tan® x) dx =

Options :
2

x tan(x) — log(secx) — - +c
1.¢ 2

2
x tan(x) + log(secx) — il +c
2. % 2
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2
x tan(x) — log(secx) + i +c
3. % s

Z
x tan(x) + log(secx) + — e
4. % 2

Question Number : 13 Question Id : 813561813 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In quadrilateral ABCD. AB=7,BC=D,AD =D -7 ifMisthe mmdpomt of BC and N
4

: DM. then 5 ﬁ =

—
Mo

is a pomnt on DM such that DN =

ABCD weodoywane’ AB =7, BC =b, AD =b — 7 8o M Dot BC atwg),
4 gy
2065500650, N 02056 DM o6s 28 Do) &nBosw DN = (E) DM eowd, 5 AN =

Options :

. AC

Question Number : 14 Question Id : 813561814 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The image of the point with position vector (I +37 +4 1() in the plane 7 - (2? -j+ L)
+3=01s
r(21 -7 +k)+3=00wo q;gvS (1 4+3] +4Kk) 34 263 o o 3Doww
BV0G.

Options :
! =
x (3,5,2)

, x (B:5,~2)
L« (43,-5,2)
4\_/(—3, 5,27

Question Number : 15 Question Id : 813561815 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let f(x) = x° — 9x* 4 29x% + 54x — 54 suppose F(x) = (x — a)" Q(x) where Q(x) is a
polynomial not divisible by (x — a). Then

fx) = x> — 9x* + 29x° + 54x — 54 Hbotw f(x) = (x — )" Q(x) Hadrddw (x — a)
B Q1) erfotit)tated e, 0N

Options :
1$3a:1 =2
zwazg n=1
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Question Number : 16 Question Id : 813561816 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the pairs of straight lines x? — 2pxy — y* = 0 and x? — 2qxy — y* = 0 bisect the angles
between each other. then which of the following 1s correct?

«? = 2pxy — y* = 0 208050 x* — 2xy ~ y* = 0 Barosomy e 26md Erred HF¢H
RBVBDOER BRIV Gold, B
Options:

1% 17Pe=0
5 % PA—1=0

3.¢pq+1=0

4 % Pa=0

Question Number : 17 Question Id : 813561817 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The line x = m® meets an ellipse 9x% + y% = 9 in the real and distinct points if and only if

r=m? 89 9’ +y? =9 65T DY) TR DoddiL H¢ VoledLL LA,
DT [R2:00 Qo
Options :

_— lm] =1

lm| < 1

3 % lm| = 2

4 % |m| < 2

Question Number : 18 Question Id : 813561818 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The sum of the cubes of three consecutive natural numbers is divisible by

TG 28R RITPR "foas,-née.a VAL A0S0 3 2rfodd ecddod

Options :
26
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Question Number : 19 Question Id : 813561819 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

mf2

J |sint — cost] dt =

0
Options :
2(v2+1)

, v 2(¥2-1)

Question Number : 20 Question Id : 813561820 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

) R ETE A W
The derivate of y = Tan™? (— 1s equal to
X

Vitxz-1
y = Tan™! (+ B0g), WBELBIN
Options :
2
| w (1Fx2)
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1

5 2(1+x%)

3 % (14 x?)

=3
4% 2(1+x°)

Question Number : 21 Question Id : 813561821 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If one of the lines 2x% — xy + by? = 0 passes through the point (—4, —2). then b* =

2x% — xy + by? = 0 2rdodd Bpues’ 2582 (—4, —2) Dotyd) et F'd b% =

Options :
x —bO

1.
2 36

3 % 4

4. % 16

Question Number : 22 Question Id : 813561822 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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dy X3

On solving T Zrozyis the solution obtained is x = 2(x —v) + log(t) + ¢. find ¢
dy x—y+3 _

dx  2x-2y+5 & FG0 x = 2(x — y) +log(t) + c v, t =

Options :

1@ BT

R +y—2

3 % X +y+2

4.8 XY 2

Question Number : 23 Question Id : 813561823 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

J x292%(Tan 1 x + Cot 1 x) dx =

Options :

x2021

2020

(Tan a3 Cot ta) Lo

XZGEJ.

5« 2021

(Tan x4+ Cot™ 1x) 4+ ¢

JT.X'ZUZI

R - 2T
3 % 2021 "z ©
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x32 g
T

Question Number : 24 Question Id : 813561824 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3
: . =W i 5 "
What 1s the coefficient of & (x + ¥)™°, when

2
|y
X

Options :

i| <12
X

3
< 1 @0o0d (x + )5 Doeees” % G0E), AO8SAN

1.¢ 732

> % —30

4 % 10

Question Number : 25 Question Id : 813561825 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) = x* — x® + 7x? + 14. then what is the value of f"'(5)?

F(x) =x* —x3 4+ 7x%2 + 14 eawd. f'(5) Dend dwdod.

Options:
1. % 842
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, % 248

284

482

Question Number : 26 Question Id : 813561826 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

i my\
}CI_I’}; ({_l .1)tan( 5 )) —

Options:
1

T

Question Number : 27 Question Id : 813561827 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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¥
= 0, —— =
> 1-tanx dx
Options :
1 1—-tanx T
—| [/ | sec? (— + x)
2 1+tanx 4
1.4
1 1—tanx T
— — | sec (— = x)
2 I+tanx 4
2. %
1—tanx T
’ 2
—_—5ec” |— X
1+tanx) (4 ® )
3, ®

1 1+tanx T
—_ ——— | sec? (— + x)
2\ 1-tanx 4

4. %

Question Number : 28 Question Id : 813561828 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the line through the point (2,3) such that its x-intercept 1s twice its y-
itercept is

8 B9 1-BoB0PoEA, y-LoB6DeL=AS Bo) BB (2,3) Doty ot T3, &
Bay EGRN

Options :
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g X+t2y—8=0

« Ix+y+2=0

. 2x+33y—46=0

X +3y—11=0

Question Number : 29 Question Id : 813561829 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T

If ‘n’ 1s a positive integer. then Z 5.0 = 2
r=1
T
N’ G TSRS ZTE.CT —3 (N e
r=1
Options :
n(n—1)
T
3 ¢ n(n+1)
4w 1

Question Number : 30 Question Id : 813561830 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
sin(x™)

Find the value of lim ——— . given that n < m.
x—0 (sinx)™ =

v T
. sinlx™)
n<m & lim——— =

x—0 (sinx)"

Options:

Question Number : 31 Question Id : 813561831 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the point (1,4) lies inside the circle x* + y* — 6x — 10y 4 p = 0 and the circle does not
touch or mntersect the coordinates axes. then

4P —6x — 10y +p = 0 338280 (1,4) Dot eotddoss” SR &obar, OO
Dototidt) Ty Adoin :om‘?oma S0, a0

Options :
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3 % 9<<p<2b

4 % 7<p<29

Question Number : 32 Question Id : 813561832 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The point of intersection of the pair of lines x> + xy + 2y> = 3x + 2y + 4 =01s

x4y + 2% = 3x + 2y + 4 = 0 2rQocd SarasriY) Pod DoY)

Options :

;% (1 2)
, » 1 2)
3% (72, 1)
s (2,-1)

Question Number : 33 Question Id : 813561833 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance between the lines 3x + 4y = 9 and 6x 4 8y = 15 1s equal to units
3x + 4y =9 20adn 6x + 8y = 15 DAredt G0 mqﬁé GG SNV
Options:
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2. %

Question Number : 34 Question Id : 813561834 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The average marks of boys in a class 1s 40 and that of girls 1s 43. The average marks of both
boys and gitls combined is 42. Then the percentage of boys n the class is

28 BOMY'D erend L6y o) Wo7RB 40 JBokn erdEy Ard) v VOB 45. S6rdY’
230 erend . erdge 00,0 RT"R0 42 BVOVA BP0 Vo(T'DIN
Options :

1 60 %
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Question Number : 35 Question Id : 813561835 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1'2 y 2

Find the condition for the line ax 4 by + ¢ = 0 fo be a normal fo an ellipse 5 + pr 1

2 2

% + 5:_6 = 1 863,838 ax + by + ¢ = 0 8 edwoby THErdS (o DA

Options :
1 1 N 144
1 & a*  b? c?
- 128
5 % a? b2 2

Question Number : 36 Question Id : 813561836 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radical axis of the co-axial system of circles with limiting points (1,2) and (=2, 1) 1s

(1,2) 20800 (—2,1) ©:38 DotHeorrrio P 30 L6 abog), Surergsw

Options :
x+3y=20

1. %
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, % 2x+3y=0
;% 3x+2y=0
Lo 3X+y=0

Question Number : 37 Question Id : 813561837 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The equation of the plane whose intercepts on x, v, z axes are 1, 2, 4 respectively 1s
X,Y,Z 030 QBT 1,2, 4 ©odd olrw) bd;)aa B0 2AEGHAD BDE.
Options :

1 gx L2yt z=4%

4x+ 2y +z=2

2. %
3 % dx+2y+z=1
4% XT2y+4z=0

Question Number : 38 Question Id : 813561838 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Solve tan(x) + sec(x) = V3, x € [0, 2n]

tan(x) 4+ sec(x) =3, x € [0, 21] J55:

Options :

Question Number : 39 Question Id : 813561839 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
oy . T .
Intersection of two perpendicular tangents to the hyperbola il 1 lies on the circle

P tyt=

s 2
% . y? = 1 03073005724 (0 Bocd Lot 06300 Dok Dotoid) 12 +7 =

)83 a6 Sotwod.

Options :
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Question Number : 40 Question Id : 813561840 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If cos(x) + cos?(x) = 1. then sin?(x) + sin*(x) is equal to

cos(x) + cos?(x) = 1 eowd. sin®(x) + sin(x) Dewsd doh?

Options :

1% 0

Question Number : 41 Question Id : 813561841 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: i : . . d .
The general solution of the differential equation log (a_:) =ax + by 1s

log (‘;—i) = ax + by e3¢0 POEETIE Froron Fed
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Options :

—hy nx .
| @ @e + be c

5 % ae™ + be ™ =¢

ae P — he®™ = ¢

. ae? + be ™™ =¢

Question Number : 42 Question Id : 813561842 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

InaAABC, a=1, b =+/3 and € = /6 . Then the measure of the third side ¢ =

ABC @zhaand’ a =1, b =+/3 2080k £C = /6 ©an®, ¢ =

Options :

Question Number : 43 Question Id : 813561843 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
AP EAMCET 2020
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Orientation : Vertical

Letu=—-27+2j + kandv=1 —2] + 2% Then the component of ¥ on U is

u=-27+2j+k v=1-2] +2k ©wonsd udgv ), WoBIN

Options :
4
1.% 3
—4
2. 3
—2
3.% 3
4. ®

Question Number : 44 Question Id : 813561844 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The population of a city grows at the annual rate of 3%. What percentage mcrease is expected in 3 years?

28 D6S0E" BT DAL G 3%. O 5 DoddyBawre" eurbese Ge Jod Sotkidy.

Options :
12.9 %

1. %

, % 13.9%
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L x 149%

4 15.9%

Question Number : 45 Question Id : 813561845 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Determinant of skew-symmetric matrix of order “three” is always

33 B66S 3¢ JHD HGE ITEEIW YYET

Options :

’I.V"D

Depends on elements

3 % STFUSTY D BFTCDEDB0E

Question Number : 46 Question Id : 813561846 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The mean deviation from the mean of the series (a), (a + d), (@ + 2d), ... ... .. a4+ 2nd) s
(a),(a +d),(a+2d),.....,(at+2nd) 3¢ a0g, 89082060 ot mﬁémMQéa
Options :
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nin—1)d
2n+1

n(n+1)d

2 2n+1

. (n(n+ 1)d)

n(n+1)d

4. % 2n

Question Number : 47 Question Id : 813561847 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radical axis of any two circles is to the line joming their centres

0ot yT0 Horerddn T8 Somodn 95 taw

Options :
Parallel
1 % PIPoBGRT Kot

Perpendicular

2 DOROTT G0t

Intersecting but not perpendicular

5 5 DL, 50 ©0LIolT &0t

Can’t be determined

balaslalel AL Pubb)
4. % @
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Question Number : 48 Question Id : 813561848 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the length of the intercept made on the line y = ax by the lines y = 2 and y = 6 is less 5 then

V= ax Bap y = 2 200080 y = 6 G200 06,53 wodtoksn Tew 5 &b 8.3, wowd

Options :

| %@ € (—co,c0)

Question Number : 49 Question Id : 813561849 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Let S be a finite set. Then a non-identity function f: § — S can be

S 28 D80S S, S\ 200D 5. ©aNY, f:5 = § PoDLAW

Options :
1. %
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Injective but not surjective

998500, 57 DoHR[N S°ED

Surjective but not injective

DodRD0, 57N BI(EHD S°G

Bijective but it does not have an inverse function

- BYHBNI0D0, 52 IS e’ HILADAW Go&Ed

Data msufficient

4V GToFo e:n"eccf‘..gjvg:m

Question Number : 50 Question Id : 813561850 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Let « and 3 be the roots of the equation px®+qx+r=0.p £0.1fp,q,r arein AP, and
1

1 "
- i E = 4 then the value of |a — f| is

px? 4 g 47 =0 % Sororen o, f (@68 p = 0). 280k p, g,7 w0 wosdd (AP.) &°

easlb. % o % =4 00, |a — f| Jed doth?

Options :

x-’rﬁ
9

|

%]
P

[
=]
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Question Number : 51 Question Id : 813561851 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A number lock has 3 rings and each ring has § digits. Total number of different ways in
which 3 rings can be rotated s

28 dotadh &8 & 3 Borben &) 0w LBAL A Borp 8 woFewTm) aw. 3 Bowdd
DD G5 Ay Frth Sy waw?

Options :

Question Number : 52 Question Id : 813561852 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If slope of one line of ax? + 4xy + v = 0 is 3 times the other. then the value of ‘a’ is

ax? + 4xy + y? = 0 2rdotd awe’ 28 TR T Gotid 63 e 3 58D &ofl, 1 Dewsd

Options :

Question Number : 53 Question Id : 813561853 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the tangent to the parabola y? = 12x at (3,—6) is

y? = 12x Doedeoosrds (3,-6) :bcg e ‘5336;,6343 DG

Options:
g X—Y+ 9=0

-ty +3=0

2. %

x4y —3=10
- !
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Question Number : 54 Question Id : 813561854 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For any two events A, B if P(AUB) = aP(ANB)+bP(4)+cP(B).then3a +2b+5c="?

A, B 0 997 8ot 20030 P(AUB) = a P(ANB) + b P(4) + ¢ P(B) wowd, 3a+2b + 5¢ =

Options :

Question Number : 55 Question Id : 813561855 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The curve y = ax® + bx® + cx + 5 touches the x-axis at P(=2,0) and cuts y-axis at a point
( where gradient 1s 3. Then the values of @, b, ¢ are

y=ax® +bx® + cx + 5 30 x-w3d) P(-2,0) Do 3¢, y-o2d) 53w Tew 3’
6ioli Do) ( 5 Pocowtachdd) 8. Bowd a,b, ¢ Denden dod?

Options:
o =3
a=— ,b=—,¢c=3
1.4 2 4
2. %
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Question Number : 56 Question Id : 813561856 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 8 lies in third quadrant and cos 6 = _? find value of tan 4.

-3
8 S'tac00 FSo-III &5° &od 080 cosf = L0, tan f =

Options :
2

1.% 3

Question Number : 57 Question Id : 813561857 Question Type : MCQ Display Question
AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3 0
IfA=]0 0|and B = 43, thenB™! =
0 4

Options :
% B 0
0 -5 0
o o -4
1. %
27 0 0
0 —125 0
0 0 —64
2. %
T
27
0 v P
125
0 0 j—¢
3¢ b .
2 & B
27
0 —= o
125
8 b =
4, % L 64

Question Number : 58 Question Id : 813561858 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Solve (8 — t)? < (t?- 3t — 10)

(8 — )2 < (t2- 3t — 10) D& 6D
Options :

=

1. %

(?4 m)
2 ¢ \N13 7

(8,0)

Question Number : 59 Question Id : 813561859 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the locus of a point P(x, y, z) such that it’s distance from the x-axis is equal
to its distance from the plane x + z = 1 1s

P(x,v,2) Do) ol 1095309 (0 GrEAY, 88 Doty ol ¥ +2 = 1 BVAVLD
(0 GITPDE HAFHA0 D, P Hoddd) DothdE DL

Options :

x¥2 2y g w2241 =40

1.¢ :

, x2 -2y —z242xz—2x—2z—1=0
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- x2 42y + 224+ 2xz—2x—2z+1=0

4w x2—2y?2 —2z242xz—2x+4+2z4+1=0

Question Number : 60 Question Id : 813561860 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In how many ways a committee of 6 members can be formed out of 10 members but always
consisting of a specified member?

28 B IS JVET S8 Godetum 6o R(RODY <089, 10 K008 &0l

E.)d;)dzbnv AETdHAVY Qo8
Options :

1
_9P
2

1. %

5

Question Number : 61 Question Id : 813561861 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In AABC, the circle that touches the sides BC internally and other two sides AB and AC
externally. 1s called

ABC Szbaanids) BC 2@ eod620ma, AB, AC 0ari erirgauray oy o
5,850

Options :
Ex circle opposite to angle A

_— A 80 JECNT (i LI Dy Ba0

Inscribed circle opposite to angle A
A 80 A0 (10 eodhGDyShdw

Circumcircle of the triangle
SZ80222Y) DOy

No such circle exists

90508 HyBHW S{DVBo S
4. % = @

Question Number : 62 Question Id : 813561862 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

f(x) = |log, |x]| is differentiable at

f(x) = |log, | x| 3¢ IgVAD0

Options :
x = 0 only
1 x X= 0 Sorgdha
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x = 1 only

x = 1 So°gha
2. %

x = —1 only

x = —1 Srradd
3, *®
Lo R-(0,£1)

Question Number : 63 Question Id : 813561863 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

3

Hx+iy=  then x? + y? =
S 2+ cos(B) +1isin(0) e 2

3
e s — esad, x2 + yZ =
= 2 +cos(0) + 1 sin(0) ; >

Options :
1.« 4x — 3
5 % 4x + 3
3 % 0

4 % 1

Question Number : 64 Question Id : 813561864 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
-9 & -2

The direction cosines of a line are AT AT ) respectively. Then its direction ratios are
=4 6 =2

28 0¥8 B §den ST (H =, H) 0003, &5 WOV BF Dofen
Options :
L« (-9.-6,2)

—9. 6, —~2

L, (-9 6-2)
4 % (9, —h, =2)

Question Number : 65 Question Id : 813561865 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the tangent to the parabola y? = 8x inclined at 30° to the x-axis is

r-ognS 30° Seadw B3, ¥ = Bx HUDUArdS 0658

Options :
Fope= 'ﬁlﬁ +- Td—=1
1.
5 % 2Zx —3y+14 =0
e B -
3 % 2x — /3y +7=0
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x—.w.-'@-l—ﬁzﬂ

Question Number : 66 Question Id : 813561866 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The line segment joining the points A(2,3,4) and B(—3,5,—4) intersects yz-plane at the point

A(2,3,4) 20805 B(-3,5,—4) Dockasuido €82 8 yz-8erD) odoid Dot

Options :

(o5)

1. %

Question Number : 67 Question Id : 813561867 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In 3 trials of a binomual distribution, the probability of 2 successes is 9 times the probability
of 3 successes. Then the probability of success in each trial is

28 B0 DeradAnG’d 3 go:im"lué"‘ 2 duodren iy Rozrd, 3 Dwodren iy
RogrI(B%) 9 Bk oy, a.;&"sb Qoﬁ@imé& Q200 T°H,AS RoaPd Qdod?
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Options
1
1. % z
1
3
2. %
3¢ 4
1
4, ®

Question Number : 68 Question Id : 813561868 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If two lines are parallel to each other. then which of the following 1s true? (if (I3, my, ny) and
(I;,m5,n,) are direction cosines of the two lines)
(I, my,ny) 08a30 (15, mz,n;) @0 &S S0 o Ben wSEFAT S VATFeBE
OB, & $o8 DSBS’ DB HOHB?

Options:

L, + mms+nn, =0
1. %

_ S =amsmi) =0
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4w L+ mm,+nn, =1

Question Number : 69 Question Id : 813561869 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Suppose that f and ¢ are mtegrable on [a, b]. then f 4 g is integrable on

[0,0] 2 f, g HDOIT0 HATEVNOITLL BN, [+ 7 O BodEAD B PAFSVRCHAD 7

Options :
. x (a,b)

Cannot comment

méafsa;ﬁm woGg S0
2. %

, o [a,b]

Range of f+ g

. f—l—gtﬁns‘%a‘éi_g

Question Number : 70 Question Id : 813561870 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

2x? —3x+5
Integral [ ( 552 ) dx 1s vahd for

2x* —3x+5
f ( , ) dx Q‘x Dended ;ﬁgaﬁf’amﬁm?
2x? @
Options :
x € R—{0}

1. %

Question Number : 71 Question Id : 813561871 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A triangle can be uniquely determined by its

208 SZDBAVA DFSAWT QT BN STHVDDD DD?

Options :
Three angles
1w Sarcd Eeadooen

Three sides
2 SATPEL) ZH023D0

One of the angles and one of the sides

5 % W8 g0 208030 8 DS
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Only one side

4 % WS ORI ACBW

Question Number : 72 Question Id : 813561872 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

d
Find d—yif 2x2 —3xy+yi+x+2y—8=0
x

d

2x2 —3xyv +v2+x+2y — 8 = 0 ®00, 2y
' dx

Options :

Iy—4x—1

2y—3a+2

1. %

Sy+ix—1
2y—3x+2

Iy -—=Sae—1

2y+3x+2

JV—4x—1

2y—3x—2

Question Number : 73 Question Id : 813561873 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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be bt+c 1
For any a, b, ¢ € R. the determinant |ca c¢+a 1] 1sequalto
ab a+b 1
be b+c 1
Do a,b,cERVD |ca c+a 1]|=
ab a+b 1

Options :

- a(h? — ¢?) + b(c® —a?) + c(a® — b?)

5 % alb—c)+blc—a)+cla—Db)

, v (@=bhb-c-a)

4 % abc

Question Number : 74 Question Id : 813561874 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

IfP =3i+45) - k and Q=1742]43 k are two sides of a triangle. then its area 1s
equal to 5q. units

P =3T+5] -k &dakw § =1 +27 +3k Szba) o hasnuk Ardy,
ETAV Y Q?ugma 0 aHPED

Options :
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<
L
LD
=

-
SO
=

Question Number : 75 Question Id : 813561875 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the value of cosec750° — 2(cot 765°)
cosec 750° — 2(cot 765°) end
Options :

1.v"D

Question Number : 76 Question Id : 813561876 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If 3a +5b + 6¢ = 0 then the famly of lines ax 4 by + ¢ = 0 pass through the fixed pomt

3a +5b + 6c = 0 @00, ax + by + ¢ = 0 Artodd Garditvotie J'ab ?gcse?}om@

Options :

Question Number : 77 Question Id : 813561877 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If (f(x))? = f(x?) + f(1) holds good. then find f(x)

(f())? = f(x?) + f(1) oo, f(x) =

Options:
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Question Number : 78 Question Id : 813561878 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

dy 1+y2

dx (Tan=ly)—x

Solve of the differential equation

dy 1+ y?
dx (Tan~1ly)-—x

LIDEDD DAEGLHAD FSD

Options:

. yeTan 'y — ,~Tan™'y ([,Tau_l . 1) -
5 & ppFal ¥ oo Tan vy ({:Tan—l V) — 1] -
3 % yeTan 'y _ ,Tan"ly ({:Tan_l v) + l) 0
. wpTAL i —TanTly (CTary) 1) + ¢

Question Number : 79 Question Id : 813561879 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Given AABC such that Ais27 -]+ k .Bis i -3 -5k andCis37 —47 —4%k then AABC is

AABC Qaboaod A(27 -7+ K). B(1 =37 -5k).C(3T —4] —4%) wond, ABC Szbasdm

Options :
An equilateral triangle

1 % WS NDVEFTV HELRAD

A right-angled triangle

5 v @8 vorE BTORIAW

An 1sosceles triangle

L WS VBT GE0WD
3. %

A scalene triangle

4 % 208 DRI HF0BAD

Question Number : 80 Question Id : 813561880 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A random variable X has the probability distribution as given below. Let E = {X | X 1s prime number}

and F={X|X <4}.thenP(EUF) =

X o:ima&as 0UTR A8 RogPid QTBAAD 508 :Jeéeﬁ“ @;‘)5&.}8;:)&. bt F = {X| X < 4},

E :{X|){@gﬂmom5] oo0d. P(EUF) =

PX)| K | 2k | K* | 2k* | 5K* | K K | 2K

Options:
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38
R

39
2.v 6%

42
3. % 64

17
4. % a

Physics

Section Id : 81356117
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 81 Question Id : 813561881 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A body executes simple harmonic motion with an amplitude A. At what displacement. from
the mean positioi. is the potential energy of the body one fourth of its total energy?

ROV irTE) S WORes’ &) Stdo S008I A. ;ﬁJ"G’}éﬁJS .g"a“:)% Jodh g‘é@,oéo e

@ 9638, 2wdo 335" Teund Sodd Gotwod?

Options :
A

1. %

3A

Question Number : 82 Question Id : 813561882 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance between the centers of moon and earth 1s D and mass of earth 1s 81 times the mass of
moon, At what distance from the centre of the earth. the gravitational force will be zero?

A, Bo@dG: SoTre) Q| &6 D. arad (03 B Qaﬁcr’%é 81 Btw. oW, X
ot 0odk dod EPOAVS’ MESN LO AP B:B0E.

Options:
D

1.% 2
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9D
4 v 10

Question Number : 83 Question Id : 813561883 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bomb of mass 9 kg explodes into two pieces of mass 3 kg and 6 kg. The velocity of mass
3 kg 1s 16 m/s. The kinetic energy of mass 6 kg in joule is:

9 kg @[3 1o 28 ePornd 3 kg B0 6 kg BITH0V (10 Bt 2008 OTF 20T on0b.
3kg QD&U"% o 208). Do 16 m/s €WK, 6 kg Q,;%m%‘ o Sw8) Ad23s Teod’

Options :

Question Number : 84 Question Id : 813561884 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
AP EAMCET 2020
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Orientation : Vertical

What should be the diameter of a copper wire (Y = 12 X 10 N.m™2) of length 5 m to produce the
same elongation produced by a 5 m long aluminum wire (¥ = 7 X 10'° N.m™2) of diameter 3 mm
with the same 40 kg mass?

TeS 5m TG0 3 mm o eurRIe A% 40 kg 833 8ADD &6 dod T, Bd
40 kg Q:)F%‘S ©od TR 5 m TEYR TH 88" Gotvol) 07 &rf (0 dod 7 0h Ao
rgan- (Y =12 x 100 N.m™?) eur(RhI0ko 0ldof Aoesgin- (¥ =7 X 10 N.m™?)
Options :

1 % 1.5mm

5 ®x omm
3 2.3mm

4 % 10 mm

Question Number : 85 Question Id : 813561885 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ball is dropped from a spacecraft revolving around the earth at a height of 120 km. What will
happen to the ball?

27 dotar 120 km 800 A0MEY) Wedds Tirdo Aok 2.8 LB FPELIFE. BOVD
&2 0083 e 2AAD ?
Options :

It will continue to move with same speed along the original orbit of spacecraft

v S4(8° BDMAY) BodBY Tirdod VAToT 28 JE 3D DAIrEEY) EIFNWB.
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It will move with the same speed tangentially to the original orbit

RECHEY 0y6,0D0orT 2.8 A Hosrdoridw

It will fall down to the earth gradually

5 % S0 ZP D& DR

It will go very far in space.

4w T GIColT 9ochBEoed S J'edood

Question Number : 86 Question Id : 813561886 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a moving body collides with a stationary body. of n times its mass. then the amount of
kinetic energy transferred to the stationary body 15

BORB06 ) 28 S, Do 2BE"R8) 1 3L GITP 10 B8 S0P & Sof),
Dora6° ol S0D% 06D waby 18298 Jos?

Options :
4n

2
1 (14+n)

n
5 % (1+m)?

n?

4. ®
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4n?

(1+n)?2

Question Number : 87 Question Id : 813561887 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a helium nucleus covers a circle of radms 0.8 m n 2 seconds. find the value of magnetic
field B at the centre of the circle.

2,8 Do 0G50 2 &0 TuARS 0.8 m :.7‘53"2;5.13 (o 28 ydo r.‘é.‘:%;m Doirsonod.
SR, & D)8 Sodw I0 OO 08 £G LV DLV SUYA.

Options :
10 —19

1.% Ho

» Mo X 19~

O
2:x10-+9

4. % Ho

Question Number : 88 Question Id : 813561888 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A uniform circular disc has radius ‘r’. A square portion of diagonal ‘7" is cut from it The
centre of mass of the remaming disc from the centre of disc 1s

w8 28 80 HT°56 Hus m}g&gmj 77860 T 10 28 BGITE P T Ao
SO0, DS 6] Do) Aol DD DS BITB S APGAY,

Options :
o

1.« 2—47T

Question Number : 89 Question Id : 813561889 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Water flows through a hose pipe whose internal diameter is 4 cm at a speed of 1 m.s™ 1 If
water has to emerge at a speed of 4 m.s ™. the diameter of the nozzle should be

4em B0 B0 I FLAW 00l 1m.s™ 3¢ A PP, 4m.s™ A
WOHL) DIPotiILL) TR Gogdn) TR0

Options :

1Eb..qgllz".:ﬂfn
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0.5 ecm
W

Question Number : 90 Question Id : 813561890 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Pick out the longest wavelength tfrom the following types of radiations

D DEGe 650" HBS BCo0BGE (0 &I 1BoiHn

Options :
visible blue light
)3 QOB S°0B

Ultraviolet light
ADLS TS 50O

X- rays
3 % X- SCerewn

visible red light
5)B] DAY S°0d

Question Number : 91 Question Id : 813561891 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The ratio of the adiabatic to isothermal elasticities of a triatomic (non - linear) gas 1s
28 Gooarms(6Donan 5°3) i) cws), B¢ woat v-eJins daFose
we=_

Options:
1.% 3:4
2. % 1:2

4. % 3

Question Number : 92 Question Id : 813561892 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The terminal velocity “v" of a spherical ball of lead of radius ‘R” falling through a viscous liquid
varies with ‘R” such that

‘R’ m&%‘g;ﬁn o w8 ‘f‘a“n}:g_) gV %) i}lg@ G (T ot DB Y A ejéé?j Rghby
‘v’ Bodw ‘R’ & 26 Rotoga

Options :
V Vv
— = constant — = DU"oto
. R R [
’|_ 4
VR = constant VR = =Tofo
2. % G
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V = constant W= 3{30"050

V
— = constant

V o

— = QT sSo
ZA

4.

Question Number : 93 Question Id : 813561893 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The half-hife of a radioactive sample is T. The fraction of the inifial mass of the sample that
decays in an interval T/2 is

B.air erB)8 Aurudn ag) s gad o T. T/2 sodnd’ 43 &9 & 365" odh
P DR Wodda

Options :

(V2-1)
« V2

(V2+1)
V2

Question Number : 94 Question Id : 813561894 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Taking earth to be a metallic sphere. 1ts capacity will approximately be

BrD w8 Srand Babads Feaum I, T 5308 Jwd &3OV

Options :
. 6.4x10°F

1. %
5 % 700 F

o o 700 uF

. 700 pF

Question Number : 95 Question Id : 813561895 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A vessel contains mixture of hydrogen and oxygen gasses in the ratio of their masses equal
to 1:5. The ratio of mean kinetic energies of the two gasses 1s;

1:5 g AN >EA Snbato 58\20 ToVHY WIS E FSS'AE
éara;-s:aulm. BN & Dot TORNYY AT AG3L G

Options :
1:1

, x 1:16

3_\;i_,,,,lﬁrzﬁ
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4. %

Question Number : 96 Question Id : 813561896 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following generates a plane wave front?

$o8 TS DO BT &\ BReB?

Options:
Point source
Do) BHSo

Extended source
ﬁ’n_gﬁoaé BosSo

Momnochromatic source
5;)5;3% 2080

All light sources
©9) 5o RS

Question Number : 97 Question Id : 813561897 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A magnetic needle Iying parallel to a magnetic field requires W units of work to turn it through
60°. The torque required to maintain the needle in this position will be

030 06 EEANE RAFOBELTRIR) WOLF 0 Ard 60° Eedo GOyTmS BBV
20 W osore. )R 8 o8 ot 0 €76

Options :

1o V3 W

Question Number : 98 Question Id : 813561898 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The energy stored in a strained wire is given by

DS $DRotsICD 28 BS” Jo Golt 38 P APGHL

Options:

1 .
X load x extension

% % 2Go x S

1.9

1 ;
? ® extension = stress

% x rrde x DA
2 %

AP EAMCET 2020



AP EAMCET 2020

1 .
? » SIress x sirain

1
2 . ?X‘Q@NUDXQSQQ

1 ;
F strain x load.

% x 833 x ePGo

4. ®

Question Number : 99 Question Id : 813561899 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Four pendulums A4, B, C and D are hanged from the same elastic support as shown i figure,
A and C are of the same length while B 1s smaller than A, C while D 1s longer than A. If 4 is
given displacement. then at steady state

& 808 cS“:uéﬁ“ BrdD w8 f’g@ g“:bé BSErEA ot Treurh S'oseen 4, B, C &ndain D
Q) DR &7dy. A LB C ﬁci:gm R, B ﬁ"d;:)j A C o 808 éﬁ)&b 208adw D
E:TC.‘.QJ A 803 QSJEIIJ. A8 g"é Qo?ﬂl £dRon) S8, Dese %‘J@ﬁ‘

Options:
D will vibrate with max amplitude
- D 188 S0 HBDS & oot

AP EAMCET 2020



AP EAMCET 2020

€ will vibrate with max amplitude

> o 5 r‘,ﬁ%‘{ EoD HBWA & odotA

B will vibrate with max amplitude

B (03 S0 DBWS & oot
3. %

All four will osculate with equal amplitude

4 % T 28 SoDD DBMWE & SoDoI"an

Question Number : 100 Question Id : 813561900 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many revolutions does a wheel with angular speed 88 rad. s™* make in one second?

88 rad. s SebaiBian Mo BEAD 28 FEWS" AD) Forrey Botndo?

Options :

1.% 7

14

5 % 28

4 % 44

Question Number : 101 Question Id : 813561901 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Electric lines of force 1n the field of a positive point charge are

w8 GBS Dot B33 W), o308 DEO[S ereBeed G0

Options :
radially outward
1 v So80DINT LoHLL

radially inward
. SoHodEawmT S Hes

parallel
3 % AT 00T

converged
SofHsBotsercs

Question Number : 102 Question Id : 813561902 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following remains constant for a projectile tired from the earth?

S0l T8S° Zr Aol ?-JE}‘}&‘J PED SHD f{gdmm“ &0t A&7

Options :
Momentum
oSl aarfada0

1. %

Vertical component of velocity
5 % DA CINE), VotoFDD
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Kmetic energy
32 33

Horizontal component of velocity
Lo Dl g, £8B2 DIToBS 0PI

Question Number : 103 Question Id : 813561903 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maximum velocity of an electron emitted by light of wavelength 4 incident on the surface
of a metal of work function ¢ 1s [ = Planck’s constant. m = mass of electron and

¢ = speed of light].

¢ 5 Habaw A & TSR0 4 8o Qg%:m (1ORD 570f HSBHA ﬁc&é@hm
LD Hy JOFA (168 S [h = arody ?é)moém, m = JUTD GO Mok ¢ =

508 Afio ]

Options:

2(hc+Ad)
ma

2(hc—Ad)

2(hc—Ad)
mA

2(hA—¢)

m
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Question Number : 104 Question Id : 813561904 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A man pushes a wall and fails fo displace 1t. He does

28 2002 w8 B g“rﬁ{gﬁo BoBotiobre’ ﬁﬁvmmf5m. 933 Wk

Options :
Negative work

22069 DD

Positive but not maximum work
&S, 57 r‘iﬁ‘g e B

No work at all
QEDDot) DI 20085

Maximum work
f‘iﬁ‘?’ﬁ oy T

Question Number : 105 Question Id : 813561905 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Four identical spheres each of radius 10 cm and equal mass 1 kg each are placed on horizontal
surface touching each other so that their centre are located at the vertices of a square of side
20 cm. What 1s the distance of their centre of mass from the centre of either sphere?

10 em a“éa“go, 1kg @302 o Toorh 28 68208 Avod D3rodd d¥od 28mEED
T8 BT D. D6 a8, So@sen 20 cm Foaofiy 28 BB VS, %g“v Sl
&0l ol BT\ @. VAN, 28 A¥8odo Aot dodh Grded’ QIJ?SU"% Sofo Gotol?

20cm

20cm
20cm

20cm

Options:

| % 20V2

Question Number : 106 Question Id : 813561906 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The center of a wheel rolling on a plane surface moves with a speed V,. A particle on the rim
of the wheel at the same level as the center will be moving at a speed

25 RAredd dwod S@mégﬁgo ;‘.DQIS Do Sflo V, . &5 950 aos), S0l Dot

RATFAA00D IS, TS B0 Gol DoY) onog), D030 Joch?

Options:

1.% 0

Question Number : 107 Question Id : 813561907 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The efficiency of a Carnot’s engine is 100% only when

507 &5 0eddw BED 100% &oltrS

Options:
Ideal gas 1s used as a working substance

DI ::rmﬂg_.:m €560, T 0NN T
1. %

Temperature of the sink 1s equal to absolute zero

BeherHaAL A0S, ag’g@ ::ci;ﬁo&:oa‘)é;ﬁn
2. ¢

3. ®
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Source temperature is equal to the temperature of the sink

%Q‘%uﬁ:.ﬁm ag’rjeﬁ FTerFOAD e, &‘Qﬁgéa RATHID

Source temperature is equal to absolute zero

&arsoan dws), e DEBTDIE0
W £a £

Question Number : 108 Question Id : 813561908 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The cols of a step-down transformer have 500 and 5000 turns. In the primary coil an A.C current
of 4 Aat 2200 V s sent. The value of the current and potential difference in the secondary coil 1s

8 29 € 283680 500 208050 5000 thotw $BA &od. GRS Srf owd’s 44 AL S
2200V 3¢ Dodedda. BxBoh O e’ I6yGd AEAS DT<ro 2Bty NS TEJaHS
Btso oodd?

Options :
1 % 204,220V

> % 0.4A4,22000V

5 v 404,220V

4 % 404,22000V

Question Number : 109 Question Id : 813561909 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Electric potential at a point distant 0.5 m from a spherical conductor of radius 0.2 m
charged to +1 nC 1s

+1nC % ﬁcﬁ}5&>§6mm B0d 0.2m a“@‘g;m o Horsed Trirgan &od 0.5m
Ao’ (e Do) H& DS TEIHES
& ol

Options :
e =W

1. %

—~ 9
& +18V

— 18V

Question Number : 110 Question Id : 813561910 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The condition d@ = dW holds good in which of the following?

dQ = dW abavo $08 D HE0HES° By DEBLICIRICR?

Options :
Adiabatic process

o o
. f‘gb 2 HDSOH

Isothermal process

R0 edooe Hioh
2. -
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Isochoric process
f’gd 20D HgEL HSaD

Isobaric process

28 DEDS H3AH
4.% ©®

Question Number : 111 Question Id : 813561911 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3067 of heat 1s required to raise the temperature of 2 moles of an ideal gas at constant pressure
from 25 °C to 35 °C. The amount of heat required to raise the temperature of the same gas
through the same range at constant volume 1s

E’gd RIPEINY bg 2590 Ucﬁdga"umtg) ﬁgﬁg@ 25 °C 006 35 °C 50 2otders 3061
6330 S*OTRD. DOVDBATEIND DEJVIT ) P B TN Bod ei;fgaaa DoteS
B0 &0

Options:

306171

1. %
153 17J

140 J

4« 807

Question Number : 112 Question Id : 813561912 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A body at 3000 K emits maximum energy at a wavelength of 9660 A. If the sun emits maximum

energy at a wavelength of 4950 A. what would be the temperature of the sun’?

3000 K ;5%5 o 28 SR 9660 A @606@9}8@ D{g ﬁ@%} 382 e;;ﬁaomm. wmém 4950 A

BOorBY0 36 105 38D GIr0R, O Ardyd a8 dos?

Options :
1.« D855 K

, « 7000 K

3 % 4250 K

4 % 8000 K

Question Number : 113 Question Id : 813561913 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The primary of a transformer has 100 turns, and operates at 100 V-200 W. The number of

turns in the secondary. if the output voltage is 2000 V s

HBHESHN TGS ché) 100 cotw ¢dA 100 V-200 W e DA &. ngﬁﬁga

2000 V 5008 Feadricdtd” tof) 1o Jod?

Options :
2000
> % 200
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100

4 % 500

Question Number : 114 Question Id : 813561914 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A rocket is fired vertically from the ground with a resultant vertical acceleration of a 10 m.s ™%

Fuel 1s finshed in 1 min and it continues to move up. What the maximum height reached?

Zirdeo 006 AWV 2§ 28 TENRA DD 66 Todd 08 dbmo 10m.s™°. s
Qi8S Bothido 00T AT ) 2§ AodTaADANTT S¥0B00d. BN B Jodk (0L
8 dod?

Options :

36.4 km
1.+

423 km

48.4 km

25.6 km

Question Number : 115 Question Id : 813561915 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A proton enters a magnetic field of flux density 1.5 Wh.m % with a velocity of 2 X 107 m.s~*

at an angle of 30° with the field. The force on the proton will be

OATLP Fodd 15 Wh.m™ 6o 600 o £8:065°08 28 Jerd 2 X 107 m.s™ ad
E0308 30° oo B 200, Terd D HABRVAD

Options :

-12
1@ 24x10 N

24X 10712 N

02410712 N
3_ 4

. 0.024x10712 N
4. %

Question Number : 116 Question Id : 813561916 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A tuned circuit of a transistor oscillator unit has an inductance of 5 mH and a capacitance of 5 pF.
The natural frequency of the oscillator 1s

30 B33 28 EPAVVE Eugan Suaand’ HEsan 5 mH mar LBak SFHOSy 5 pF
AP 69)6. & Evsdn aog) dira Jdap

Options :
100 kH=z
-
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1GHz

10 MHz

1MHz

Question Number : 117 Question Id : 813561917 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A current I = 10 A 15 passed through the part of a circuit shown in the figure, What will be the potential

difference between A and B when ‘I” is decreased at constant rate of 102 A.s™* at the beginning?

D0308" e Ao [ = 10 4 336&)5»5 S00hawe’ w8 TG’ HHiT8. ﬂd)yg\é;)a“:?;ﬁn
25 fgcsmam 660 102 457! F6ogod” éﬁuﬁ}é, A, B v 206 ?Bgoﬁﬁ B8 Jodh?

12V
4 =>—NWA :I M —35
20 S5mH

Options :

—75V
1.¢

35V
2. %

—35V
3 %

4V
4. ®
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Question Number : 118 Question Id : 813561918 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A block of mass m 1s placed on a smooth wedge of inclination 8. The whole system 15 accelerated
horizontally so that the block does not slip on the wedge. The force exerted by the wedge on the
block (g 1s acceleration due to gravity) will be

§ e Eno o Tw0dwop m ST 28 B0 A0 Gotrd. Aodo HIY £82 DArodd
(B0 $8 &) 9y B2 T dwe el PETED. T Svo BAYD LB Lo

(g (DGoS( (Geae e9ond)

Options :

mg. cos 6
mg. sin 6
mg

3. %

mg. sec

Question Number : 119 Question Id : 813561919 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A rectangular metal plate 8 cm X 4 cm at 127°C emits E J.s~*. If both length and breadth are
halved and the temperature is raised to 327°C. the rate of emission 1s

127°€ écg 8em X 4com &93 SABTTE) Dod &%I"d:m Els7L ovg Tad D60y Boler
TS @Qoﬁ. egﬁ;j@m 327°C 2 Dowd T e?éﬁé.n Jodd?

Options :

g
(T) Elg >t
1. %

Question Number : 120 Question Id : 813561920 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Acceleration due to gravity at a height *h” 1s equal to that at a depth ‘d” below the surface of
the earth. 1f

P800 Aot h IB0 56 OSSN0 d 6'd) 36 MHSEBEEFIE DIFHIN Bowd
Options :

d=nh
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2d =h

d =2h
3. v
4% 3d = h

Chemistry

Section Id : 81356118
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions: Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 813561921 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which element of the 3d series has highest third 1onisation enthalpy?

3d 338 BoB D JrwsdE BSOS Jrds LoHIL6E aoz;:vé;) Eotwod?
Options :

Mn

’I_bé
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an
2.

Fe
3. %

Cu
4. %

Question Number : 122 Question Id : 813561922 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following represents the correct order of variation of bond angles
in the given molecules?

S0d DA YTV £3008 e DGR & Sobd 3006 DAL D7

Options :

NHE; = NFE; = PCIE = BFE;

BF3 == P'E:‘Eg == NH3 = NF3

2. %

BF; > NH; > PCl; > NF;
3., %
4 BF, > NH; > NF; > PCl,

Question Number : 123 Question Id : 813561923 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a compound with empirical formula C;Hg0. how many aromatic structures are possible?

C;Hg0 eoeerds &d}éu i D) ¥ S Ay D0 )5 Ao 0 TaSN?

Options :
9
1. %
5
2.
7
3. %
4. % ?

Question Number : 124 Question Id : 813561924 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following can show geometrical isomerism?

$oOT°IS” 28 FyT () DB oud DB IB?

Options:
CHCI = CHCI
1. ¢
2 CHE = CCIE
~ CCl, = CHCI
3., %
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CHE — CHZ

Question Number : 125 Question Id : 813561925 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the concentration of fluorine in ppm 1n 500 g of toothpaste containing 0.2 g of fluorme.

500 g e O 0.2 g F63 DAt J'BS meied ppm 08" Jodt?

Options :

2 x 102

1. %

4 % 102
4 % 10°

4 x 103

Question Number : 126 Question Id : 813561926 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How much current is required to produce H, gas at the rate of 1 cc/sec under STP?

STP 56 1 cc/sec 8008’ Hy a0 D\ESong) Jod DENB)THI) &003rAord?

Options :
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2:33 .4
1. %

6.0 4
2 %

79 A
3. %

8614
4.

Question Number : 127 Question Id : 813561927 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A metallic solid undergoes Frenkel defect, Its original mass, volume and density are Mj. V.
and Dy respectively. After Frenkel defect the mass. volume, and density are M. V and D

respectively. The variations of M, V and D after Frenkel defect are

28 OTP 20330 PoSS G F) Tood. T GATF My, IOATEW Vy 20ahH)
Fogs Dy. 205 S8 Tobd SHOTS T (T3, HVOITHAD 2B Fogden
SEH M, V 508050 D w08, 80870 & D6 Dasw?

Options :

M=M, V=V,, D=D
1. ¢ 0 0 0

L M<M,, V<V, D<Do
2.

3$3M}MB,V:V{},D:}D{}
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M:MQJV{VG,D}DG

Question Number : 128 Question Id : 813561928 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate energy of half mole of photons of a radiation with frequency 3 x 10*2 Hz.

3% 10™ Hz 350w o Do owg), o8 ars Jerd 38 dod?
Options:

598.2 kJ.mol™ L

0.598 kJ.mol™?

1.196 kI.mol 1

119.6 kI.mol™ 1

Question Number : 129 Question Id : 813561929 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement about aniline is false?

A. Auniline is a strong base than amumnonia

B. Auniline is a less basic than methylamine

C. pK, of aniline is more than that of ammonia
D.

Aniline reacts with bromine water to form a white precipitate

WL IR 20o)oQo) $0HTVS’ D DSHWHo VBTV S°C0?

A, 027 JaI” ST 2395 LR Fdo

B. 3S DS $77) 0D wolrd20d 6o

C. 2005 pK, Densd @25 dair pK, Dend Sofl J&y S
D. d0DS 5D 200 B365 Tod BY VIEDHD BN

Options :

A

Question Number : 130 Question Id : 813561930 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A charcoal cube having side length 10 cm 1s chopped lengthwise into 5 equal pieces. Then.
the effective adsorption power

10 em SFe) eotdd o) 28 ' D) TR 0 X dwg) eor Sadrr, T0

08 whF avmgém

Options :
Increases by 2.33 tunes
2.33 G DM
1. 2

decreases by 2.33 tumes
. 2.33 G S0

Increases by 2.14 times

2.14 Bt DG
3. % e

decreases by 2.14 times

4w 214 00 SdoridR

Question Number : 131 Question Id : 813561931 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction 2NHy(q) + C0y(5) = NHyCONHy(yq) + Hy 0. find the value of equilibrium

constant at 295 K. Given, standard Gibbs energy change at the given temperature is 13.9 kJ.mol *

295 K 36, 2NHy ey + €Oy pay = NH,CONHy (g5 + Hpjpe 5858 RTRO A8
ricdoiSods. By G0 56 Hare Ay 386" Arcoy 13.9 kT.mol L

Options :

2.88 x 102
1. ¢
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2.58 x 102

2.40 x 102

2
4% 2.65 x 10

Question Number : 132 Question Id : 813561932 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following materials 1s extensively used as a piezo electric material?

2o6706° DE' HEGorT BSBSIVT B EHAAFW?

Options :
Quartz

5'“5%

Mica
o5

Amorphous silica

Eﬂ'“'n};}l?f)ﬁ .?JE}E“

Tridymite
5C 2085
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Question Number : 133 Question Id : 813561933 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The common name of isopropyl benzene is

DI T0S Go2d g, TS (d6e2) oo

Options :
Stvrene
63

fed/

Quinol

ésSﬁ

Cumene

5?53.)35

Cresol

TS

—

Question Number : 134 Question Id : 813561934 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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DNA consists of two polynucleotide chains. Each chain forms a right-handed spiral with how
many bases in one turn of spiral?

DNA Boc 3D ArSairl #j0ar0dy sDh Gotirod. 9O 00 O B33 2166 o7 By
SOVBODYYD, 28 YOS SAMHEYE” A) T Gotron?

Options :

4 10

Question Number : 135 Question Id : 813561935 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The supply of oxygen to tissues by blood. can be explained by

So&TOS) e.sé;)ﬁ.ﬁ REDHT DO (SNl Sé&;s&nﬂﬁ;ﬁm&

Options:
Le-Chatliar’s principle

. O FOaHE osaddw

Boyle’s law

5 % ETPOY) ADOIIS0SW
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Charle’s law

3 % 70 Q200D

Dalton’s law

4% mgé 4 lasiPetiubb)

Question Number : 136 Question Id : 813561936 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is correct about C 032_
A. The hybridization of central atom is sp*
B. Its resonance structure has one € — O single bond and two € = 0 double bonds
C. The average formal charge on each Carbon atom 1s 0.67 units

D. All C — 0 bond lengths are equal

£0,” % %0t0800) SoBTIS 3520 Dacdw?

A :13555 20T 033}5& Nosdsdaan Sp3
B. o Y%y Qo7 2,6 € — 0 80630 ot (= 0 togred $9A Sotwod
ks Q@ E“t‘.’)ab 2 Aefew @“d&l’j e33:50 0.67 D.‘M“.&')QJ

D. e.a;')l C — 0 2306 BFT L0 DATIAD

Options :
A
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Question Number : 137 Question Id : 813561937 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 40% by mass sucrose solution 1s heated till it becomes 50% by mass. Calculate the mass
of water lost from 100 g of the solution 1s

40% w@&ﬁ;ﬁnm o) 708w g“::e'a"bi D& Bodre ed 50% wm@és;‘mm B8,
100 g © & 2r§a grann 2ol §6°\00d A8 &r6o Jod?

Options :
10 g

1. %

Question Number : 138 Question Id : 813561938 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the correct order of the given elements with respect to their size

SoBT S DBIEFI) B D/ S0 A& ?
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Options :

Zn > Fe > Fe?t = Fe3*t
1.9

Fe®'t = Fe?t =~ Zn > Fe

Fe > Fe?t = Fe3t = Zn
3. %

Zn > Fe3t = Fe?* = Fe

Question Number : 139 Question Id : 813561939 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct order of decreasing acid strength of following acids is
1) Trichloro acetic acid
2) Trnfluoro acetic acid
3) Acetic acid

4) Formic acid

So8 8w 25 e DT ITTTR SH0H0 IO
1) O5E DS e5:wd0
2) 8T DS et
3) DS es20AW
1) &aéé 32050

Options :
1 »>2 >3 >4

1. %
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2. %
- -
3. ¢
2 >4 >3 >1
4, %

Question Number : 140 Question Id : 813561940 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electronic configuration of Cs 1is

$0BTIS” Cs JUTD EJ;FTS‘A:::

Options:
[Kr] 5st

1. #

1
5 [Xe] 65

[Rn] 7st
3. E

4% [Ar] 45t

Question Number : 141 Question Id : 813561941 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Calculate the ratio of the effusion of €O and N,. when temperature and pressure gradients
are held constant?

f‘gd 2GR0 Adasw fgd t‘—,;g’(j@a! 6 CO 08aiw N, Jrainaho D"ea;jdmo DK}D@

Options :
1_331:2
2&/1:1
3.x 231
4.331:4

Question Number : 142 Question Id : 813561942 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements is correct for the cell Zn | Zn*? || Cu*?® | Cu

In[Zn*? || Cu*? | Cu 2oer8 Doriobot) & $08 HIVT LS’ B D2awn?

Options :

Zn 1s reducing agent

| Zn S03086¢3

Cu 1s anode
5 w Cu s3&

Cu is oxidizing agent
Cu 388663
%
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The cell reactionis Zn + Cut? —— Zn*?2 4+ Cu

208 6§ Zn + Cut? — ZIn"2 4 Cu
4.

Question Number : 143 Question Id : 813561943 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Among the following processes. for which process. the change in entropy (AS) is negative?

& Brioid DGBowE" (Sojor’) 338 dots Ardoy (AS) wwErd)So wHot?

Options :
Sublimation of lodine
. DOBVED &S BDI0

Freezing of water
v DS 20DBI32D

Burning of rocket fuel

T°E8) Potido Dot
3. %

Dissolution of Sugar

©8), 680 E0AIAED
4, %

Question Number : 144 Question Id : 813561944 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The correct order of mcreasing acidic strength among the following 1s

SoBTE) DBEDD €55 Lerew e8P S20H0 MBotdod

Options :
Phenol < Ethanol < Chloroacetic acid < Acetic acid

DTS < AGSS < EF DO 5050 < DO 32030

Ethanol < Phenol < Chloroacetic acid < Acetic acid

, POSES < DTS < EF DDHAS e2:0351 < IS e

Ethanol < Phenol = Acetic acid < Chloroacetic acid

3 ¢ BOSS < DTS < JOBS 2030 < £ VB e

Chloroacetic acid < Acetic acid < Phenol < Ethanol

. £ DS 520300 < DDA 3200 < DTS < RIS
4,

Question Number : 145 Question Id : 813561945 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

o Bl
Calculate the number of protons. neutrons and electrons in .

32

57T & Terdan. ArErady 28050 JUTHD Grloted

Options :

| % 14,18,16

, « 16,16,14
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18,16, 14
3. %

, v 16,16,18

Question Number : 146 Question Id : 813561946 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the molar ratio of a weak acid HA (K, = 107°) and its salt with strong base so that
the pH of buffer solution is 6.

pH = 6 03] Dor &) word o HA (K, = 107°) 28050 2@od T6od
AOYER T LI Arerd AindN fedotsod:

Options :
1. % 10

Question Number : 147 Question Id : 813561947 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A pungent smelling gas “A” gives dense white fumes with conc. HCl. When A" reacts with
alkaline solution of a colorless reagent “B”, a reddish-brown precipitate “C” 1s formed. The
compounds A. B. C respectively are

QPO TRR v A Taho) e HCl § 6003 89 T, Gorbed B’ 5680
A 36 Tdmed A’ 6] Todd Jh-Fehdy Gorb v 5500 T A6\EHG. g ¢
A, B, 28050 C &0 S8rr
Options :
NO, . NaOH . [Fe(H,0):NO]**

1. &

. NH;, NaOH, K,Hgl,

3 NH3, K;Hgl,, NH;.HgO.Hgl

Cl, . Sodium nitroprusside. [Na,Fe(CN);NOS]

Cl, , Féavo RED\E, [Na,Fe(CN)sNOS]
4. %

Question Number : 148 Question Id : 813561948 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The possible oxidation states of Group-13 elements 1s/are

(rD-13 Boresten Todne e38\866 DB

Options:
1. F + 3

5 @ 143
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g |

.« Fl, E, 43

Question Number : 149 Question Id : 813561949 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following mineral acids can attack Si0,?

208 2 wHTS” B Si0, § BETocHwE?

Options :
conc. HNO4
1 % ™& HANO;

H,S0,

4 % HCI

Question Number : 150 Question Id : 813561950 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the shape of I3 1on?

I3 903D e55°Co SdoC.

Options:
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Trigonal

| x OFe0D

Linear

88D

Bent
5 % Sedodd

Trigonal planar

S5 B DoV

Question Number : 151 Question Id : 813561951 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When glucose reacts with bromine water. the main product 1s

ArER, &S 20B0SE S) TodD DOy DO &S\0) S

Options:
Acetic acid

| % DS esu0

Saccharic acid

€S esfuaAw
2. % e

Glyceraldehyde

AT s
3.% ° &5
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Gluconic acid

Ho8' DS e300
4.4 = =

Question Number : 152 Question Id : 813561952 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Elements of which of the following group(s) of periodic-table do not form hydrides?

8508 HOSS" D Ar/ APYYD Bodd HrusTen ek o DOYBBY?

Options :
Groups- 7,8,9
| o 070~ 7,8,9

Group- 13

), x B70713

Groups- 15,16,17

, x Gripeo- 15,16,17

Group- 14

| » 0730 14

Question Number : 153 Question Id : 813561953 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The volume of a given mass of a gas is directly proportional to its Kelvin temperature at
constant pressure, The above statement 1s known as

?gdfméo 36, Do GS[0°3 0 2,8 ToboRY) AWE), DWHNGAT TR0 T 3955 [265]
6 08% 008 Srnddes’ Gotd. p Jabard) 90GIE)

Options :
Bovle-law

1 % BPONY Qoo

Vant Hoff’s law

5 % Trotd 33D dadsve

Charles’s Law
3 @ 0 ~o00

Daltons law of partial pressures
. 0N s G0 dobdo

Question Number : 154 Question Id : 813561954 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reversible reaction. if the concentration of reactants 1s increased. the equilibrium
constant of the reaction

S (i (egmcéom] tﬁdﬁﬁﬁ 3055 MEDD Dond, ‘am@“%a i‘gﬂ“oSo

Options :
Increases

1 ¢ FelebloblabllA)
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Remains constant
%Cﬁof‘r’ EotLob

Decreases
_ @ﬁ)@ga&;

Depends on amount of reactant

n SO3r2ATY DO BTN

Question Number : 155 Question Id : 813561955 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the temperature of 4 moles of a gas occupying 5 L volume at 3.32 bar?
(R =0.083 bar.L.K . mol™)

3.32 bar(er6) © EAN 36 4 A0W0R TAINDY 5 L DR0HBATHA0 BEWR. T
&5 d0d? (R = 0.083 bar. L.K*.mol™)

Options:
1.% 2K

, » 50K

. x 500K

4 % 05K

Question Number : 156 Question Id : 813561956 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following alkenes will yield 2-methyl propanal on reductive ozonolysis.
(addition with ozone followed by the reaction with Zn/H,0)

LETOND 1S (LE' DS Dosune 28R DGO Zn/H,0 & avdinge) & 2-3S

:J
ToT R0 Sodd TES° A8 Eé;jdz:ﬁﬁvd}'?

Options :

Question Number : 157 Question Id : 813561957 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

When 10 g of Copper and 10 g of Iodine are mixed. calculate the theoretical yield of Cul
according to the equation 2Cu + I, — 2Cul.

10 g 506 & 10 g 2e0eS S8R 20u + I, — 20ul GFaHS 86§ dodidtorr
o8 Cul G\ 83008 ?

Options :
30g

1. %

Question Number : 158 Question Id : 813561958 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the product of the following reaction when Xe is taken in excess. Xeggy + Fyy —7?

Kegg) + Fyg) — 7 630 t6[8" Xe 0B530r SED, I0\G 8y 40

Options :

_— XeF,

2 XEFZ
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3 % XeF,

4 % XeF;

Question Number : 159 Question Id : 813561959 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In comparison to a 0.01 M solution of glucose. the depression in freezing point of a 0.01 M
MgCl, solution 1s (M.W. of MgCl, = 95. M.W. of glucose= 180)

0.01 M (r&4 ddnand IOy ard, 0.01 M MgCl, Trandw Hrdgod gvas SENE

AP EAMCET 2020

(MgCl, ernerdiw 95, 4r&d emersiw 180)

Options:
The same
1 % PRI

About twice
| R0AE) Botd Bew

About three times

AATA) Sarchy GEL
3. ¢ &

About six tumes

RSO TPA) esd) CRL
4, % -

Question Number : 160 Question Id : 813561960 Question Type : MCQ Display Question

AP EAMCET 2020



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

At STP. if 5.6 litres of a gas weighs 7.5 gm. then identify the gas.

STP ;5&3 5.6 %g To30Y) 7.5 A o $OA &ofl, &8 Tra30HR0 MdBoted..

Options :
1. % CO

2.v NO
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